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= 80,358, 156
= 2,466,403
& 6,716,204
Al 13,269,196
S| =MEEH KA 80,218,962 78,272,975 1,945,987
= 70,249,038
T 5,495,379
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THESE =24 2 HARAHE KR 80,218,962 78,272,975 1,945,987
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OHAX HItHH| & =8id| S
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OdAl SS&d K&
1,600,000 *7H 11,200
14 J|EI2 A3 10,000 10,000 0
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< 5,263,268
Al 1,879,740
01 A2 HSFS(RDNEERTHE) 74,813,606 73,435,403 1,378,203
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307 glztol & 1,831,550 1,458,000 373,550
= 1,648,3%
== 128,209
Al 54,946
11 AMEISXAEEES 1,831,550 1,458,000 373,550
OARIEEZAIE =5kt 2830 1,831,550
= 1,648,39%
=S 128,209
Al 54,946
[ENESPNIE=10 564,850 547,417 17,433
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=S 39,540
Al 16,945
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= 2,865,325
= 135,850
== 368,166
Al 711,465
28=A 3,581,657 2,300,000 1,281,657
= 2,865,325
=S 368,166
Al 358, 166
301 EetE2 NS 3,581,657 2,300,000 1,281,657
= 2,865,325
= 368,166
Al 368, 166
01 Al EE A S (2 RDEEMA) 3,581,657 2,300,000 1,281,657
==X X 3,581,657
= 2,865,325
= 368, 166
Al 368,166
FOINE A2 160,000 160,000
301 EtE2 NS 160,000 160,000
02 AR 2HHLFS(HAAS, XNLHE) 160,000 160,000
OS0S WA =8l K& 160,000
A27 SgAtdZel XA(FREX) 20,720 20,000 720
= 9,500
Al 11,220
201 el 9,720 7,120 2,600
s 4,000
Al 5,720
01 At2teltl 9,000 6,328 2,672
OSgAtdi2el 28l & 2= ME,SX
SI|EAE 9,000
[ 3,640
Al 5,360
02 S3=2g4l 720 792 NT2
OSegAtd2el SEFUE AIER
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= 5,500
Al 5,500
01 Al EE AT S (2 RDEXA) 11,000 10,000 1,000
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OS8Hs MESAAE 2 (199H2) 11,400
03 &A= 2,000 0 2,000
OsHs UIESXAE 2Atell 232 el
A 2,000
301 LELE NS 21,500 21,500
02 MBI 2HHSFHS(HAANS, XLHE) 20,000 20,000
OSHs IESXAE 2 (199H2) 20,000
14 DBt 2 a=S 1,500 0 1,500
OBHE AII7 L2 AT T4
50,0002 *2.52]* 12& 1,500
303 Zal= 2,900 2,900
01 2= 2,900 2,900
OSHs ESNAE 2aAtd 2EU3
za=s 2,900
SHs AEE SEMHA XA (FDEX) 180,500 169,600 20,900
= 126,350
Al 54,150
201 Ler=23 | 85,500 79,800 5,700
= 59,850
Al 25,650
01 AtR2t2|HI 85,500 79,800 5,700
OsHs UEg SeAtlA 24|
4,500,000 * 1994 2~ 85,500
[ 59,850
Al 25,650
301 EtE NS 95,000 79,800 16,200
= 66,500
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01 Al EE A S (2 DEXMR) 95,000 79,800 15,200
OSHS Atcll2tel et XA
5,000,000 * 1994 £ 95,000
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el =X (SH9 H2)
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ZE0E 29 76,289 99,526 N23,237
307 elztol & 76,289 66,526 9,763
11 AMEISXAIEEXE 76,289 66,526 9,763
OFC=0rt =249 N3 76,289
NS0 HEory 8,757,419 8,691,666 65,753
= 7,243,793
[ 22,570
== 383,371
Al 1,107,685
A =& 8,757,419 8,691,666 65,753
= 7,243,793
[ 22,570
= 383,371
Al 1,107,685
MG elZet 5 8,100 8,100 0
307 @120l & 8,100 8,100
04 QIZHHAMAIH 2 £ 8,100 8,100
OXIZAISE O AL SH0E AR
8,100,000& 12 8,100
e SEX 463,537 406,514 57,023
= 92,708
Al 370,829
307 elztol & 463,537 406,514 57,023
= 92,708
Al 370,829
05 212t =S 463,537 406,514 57,023
OMASIH?IHES SEXNFAES 463,537
=S 92,708
Al 370,829
KE22 A 4,382,379 4,309,990 72,389
= 3,944,141
= 131,472
Al 306,766
101 21AH| 672,000 599,611 72,389
= 604,800
= 20,160
Al 47,040
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OAl &g 22 AY 21FY 672,000
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Al 95,801
OXSEEXZ A Atefl2e| it 23 38,336
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Al 8,051
INE:PN S-S ENINES=, 28,600 28,600 0
= 5,720
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307 gl2to| & 28,600 28,600 0
= 5,720
Al 22,880
10 Al SXAI2EE 22X 28,600 28,600 0
OXS It ME, BAL =
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ARISXIAIE THE ¢ 2,880 2,880 0
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10 Al SXAAEEHE2EHI2x 2,880 2,880
OMIEX XS (NSAX2HE) SALA X
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[ 22,570
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307 212+01 A 32,242 30,707 1,635
= 22,570
T 2,902
Al 6,770
10 IS SXAIEHE2ZHIER 32,242 30,707 1,535
OXi&tAtell2e| Xt 29 32,242
ax 22,570
T 2,902
Al 6,770
KX de 2835 K& 31,000 31,000 0
= 6,200
Al 24,800
307 2I2+01A 31,000 31,000 0
& 6,200
Al 24,800
10 Al =S XA EBEER2IHIE X 31,000 31,000 0
OXNSTEHE E45 NJ (29 S) 31,000
& 6,200
Al 24,800
NSGTedEH Jls22 15,000 15,000 0
= 3,000
Al 12,000
402 QIZ2HRt=01H 15,000 15,000 0
= 3,000
Al 12,000
02 QIZEXHE A 2 (01 THE) 15,000 15,000 0
OXYREHE D22 15,000
& 3,000
Al 12,000
KNEXEHEH &2 S 3322 N3 15,000 15,000 0
201 B2 AL 15,000 15,000
02 S=29| 15,000 15,000
OXNEX2HE IS & 3322 15,000
DE2sEJUE=E =42 223 N (MELNH S 3,300, 161 3,374,400 AT4,239
Ated)
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& 99,005
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et XA =8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot G H S EE=SS A 2,000
301 EtE N = 800 1,800 21,000
11 #AIAMHIXIE S 800 1,800 1,000
OXMELTNEE IR NHAZWS
A& 8,000& x50 *23] 800
FHAAS K 2,955,048 2,574,905 380, 143
= 2,009,734
== 442,657
Al 442,657
FAAHES XA 2,955,048 2,574,905 380,143
= 2,069,734
=S 442,657
Al 442,657
KNS A2l MEIA SXALS 2,244,000 2,244,000 0
[ 1,572,000
= 336,000
Al 336,000
201 er23| 4,000 3,400 600
[ 4,000
01 At2t2ltl 4,000 3,400 600
OXISABIMEIA SEXAYE EE2S 2 A
M 4,000
= 4,000
308 XXM SO0IH 2,240,000 2,240,000 0
= 1,568,000
== 336,000
Al 336,000
13 SI[2S0He 4 EAS At 2,240,000 2,240,000 0
OXIS At MBI AE ALY OIE2 2,240,000
= 1,568,000
=S 336,000
Al 336,000
JHARZHE &2 XIEA 335,781 265,360 70,421
= 235,047
= 50,367
Al 50,367
308 AHAIEHMSOIE 335,781 265,360 70,421
[ 235,047
= 50,367
Al 50,367
183 S| 2SS A AIE 335,781 265,360 70,421
OIJAR2tE S2X3MY HE = 335,781
[ 235,047
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Al 50,367
FE0ISHZAZ A 65,547 65,545 2
= 45,883
< 9,832
Al 9,832
308 XXM SOIA 65,547 65,545 2
= 45,883
== 9,832
Al 9,832
13 SI[2S0He 4 A AS A 65,547 65,545 2
OFGENISAHLXEAMNY HE= 65,547
= 45,883
=S 9,832
Al 9,832
LSS MEIAAN 309,720 0 309,720
= 216,804
= 46,458
Al 46,458
201 fer=3| 3,000 0 3,000
[ 2,100
= 450
Al 450
01 AtR2t2|HI 3,000 0 3,000
Odd=s ML 822 & A4 HE 3,000
[ 2,100
= 450
Al 450
308 AtAIEMSOIE 306,720 0 306,720
[ 214,704
= 46,008
Al 46,008
18 SIS0t oA AS A 306,720 0 306,720
OgassSAHIA HE S 306,720
= 214,704
< 46,008
Al 46,008
HH2LZH(MEL2T D) 647,724 545,039 102,685
[ 238,249
= 36,631
Al 372,844
Ig =g 569,424 470,687 88,737
[ 238,249
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Arell2te]l MEMA e (2230122l Ar 2124d]) 285,876 260,925 24,951
= 147,608
T 25,831
Al 112,437
101 e124d| 241,376 220,485 20,891
Ay 112,008
T 19,601
Al 109,767
03 SRA(RINHS) 222+ 241,376 220,485 20,891
Ollz=0¢2telAt e124d| 191,897
= 112,008
& 19,601
Al 60,283
OS|z=¢H22IAL = 49,479
-IIEsg 50,0002 x5+ 12& 3,000
—HAZ Al 140,000 x5 » 123 8,400
S R 175,000 x5 122 10,500
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OBR2A(RIAeH22 X BEHERE=2 S 44,500
-SR(RIIHL) 22X NEBEE B¢
=2 80,0003 x5 12& 4,800
s 3,840
T 672
Al 288
-SR(RINAL) 22X AN EE S
= 50,0003 x5« 123 3,000
= 2,400
& 420
Al 180
- SRA(RIHY)ZZ2 X =01z I
2e3 190,000 *5F 122 11,400
= 9,120
& 1,5%
Al 684
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